EE 301 HW#21

KEY
AC Parallel
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Find the total impedance for the given network and draw the impedance diagram.
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Find the total impedance for the given network and draw the impedance diagram.
| ( al
\ } *
- 4 + .
Zv ( locos, j 70000 = Jlooo Teoon,

Vi

2. 1A LY =376

§64.2 =) 4353 JL

>

Ko =439




KEY 2/ 3
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3) Given

a. Find the total impedance Zy in polar form. -
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b. Draw the impedance diagram.
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c. Find the voltage E and the currents I and [ in phasor form.
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d. Draw the phasor diagram of the currents [s, [, and 1|, and the voltage E.
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e. Verify Kirchhoffs current law at one node. l
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f. Find the average power delivered to the circuit.
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4) Calculate the currents I; and I, in phasor form for each of the following circuits using the
cwrent divider rule. -
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